VA

PUSHBUTTON SWITCH

EMPLOYS MODEL V MICRO SWITCH AND

MOST SUITABLE TO GENERAL

INDUSTRIAL MACHINE

-High relisbility and various types available

employing model V micro switeh
~3 pughbutton types and ¥ button colors

available

-Prepared rTock type besides momentary type

B TYPES
S - COLOR_OF BUTTON
PUSHBUTTON | BLUE(A) | BIACK(BR) | GREEN(G).L RED(R) | WHTTE(W) YELIOW(V)
’ 1 'WAQ-4A-K 'VAQ-1B8-K ‘VAQ-4G-K VAQ«4R-K VAQ—AW K ~vm-w-x
¥ VAQ-1A-l VAQ-48-L| 'VAQ-4G-L] ‘VAQ-AR-L| = VAQuW-L | VAd-AviL
§ 2 CVAQ-4A ZVAQ-4B ZVAQ-4G .ZVA‘IJ-AR .ZVAO-‘V\{ ’-ZV‘Ab-!Y
E! 1 vAQ-1SA-L|  'vAQ-1sB-L] " VADB:EG-L VAQ-ISR-L ' VAQ-fsw-L VAQsISY-L
E 5 2vAQ+SA|  2VAQ-158| i2VAQ-I5G {2VAQ-IR|  2VAQuISW|  2VAQ-15Y
§ | VAQ-38A-L VAQ-360-L ‘VAQ-380-L VAQ-IIR-L U VAQ-w-L VAG-38Y-L
E’ !. WAQR-44 |- VAQR-48 VAQR-4G VAQB-‘R ' VAQR-4W '-VAQR-llY
o ‘ .
g 2 avagada| 2vAQR-8] 2VAQH-4G| 2VAQR-4R|  2VAQRW |  2VAQR-bY
Type of pushbutton ls clasgified according to reduired panel thickness:
RATINGS
Hicro switch | Rated Non-inductive load Inductive load !
Voltage (V)| Resistive | Lamp load | Inductivé | Hotor!
AC 125 - 15 2 10 3
‘ 250 15 2 10 3
V-15-1A5 OC 8 15 4 10 8
" 30 10 4 10 4
125 0.8 0.1 | 0.6 0.1
I 250 0.3 0.06 | 0.3 0,05
Notes: 1. Inductive load has a power factor of 0.4 min. (AC) and a time constant

of 7 nsec max. (0C).
2. Lamp load has an inrush current of 10 times the steady-state current,
while motor load has an inrush current of 6 times the steady-state
current.

3. The specifications shown in the above table apply

contact gap of 1 mm.

to the types with a
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We have two types of button for VAQ series as follows;

(One-=touch type) (Screw type)

TYPE NAME  BUTTON COLOR TYPE NAME BUTTON COLOR

VAQ-BA BLUE VAQ-HEAD SCREW A BLUE

VAQ-BB BLACK VAQ-HEAD SCREW B BLACK

VAQ-BG GREEN VAQ-HEAD SCREW G GREEN

VAQ-BR RED VAQ-HEAD SCREW O  ORANGE

VAQ-BYW WHITE VAQ-HEAD SCREW R RED

VAQ-BY YBLLOW VAQ-HEAD SCREW W  WHITE
VAQ-HEAD SCREW Y  YELLOW

=

S % suTron
SLIT ; M4SCREW

PLUNGER M.~ PLUNGER
&or
APPLICABLE VAQ SWITCH APPLICABLE VAQ SWITCH
VAQ-4 () =K VAQ-() ()=L,  VAQR-() ()

2VAQ= () (), 2VAQR- () ()



